REWARD MECHANISM CALCULATION
In order to understand the reward mechanism an example is useful:
A company that is earning R 100 000 per annum at a P/E ratio of 5 is worth R 500 000.

If the benchmark is to deliver R 5.5 million profit over 5 years irrespective of timing.

If income is evenly achieved over the 5 year period R 1.1 million will be earned in year 5.  The value of the company has therefore been increased to R 5.5 million (R1.1 million x 5).  The value of the company has therefore increased by R 5 million.

If the agreement was 40% of equity, the reward would amount to R 2 million.  Thus the turnaround specialist earned split the upside of the growth in value and is limited on the downside to the time and energy spent on the downside.
One must be careful to exclude any window dressing from the all calculations consistently.
